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16U/102/10 Set No. 1

Time/®WY : 2 Hours /902 Full Harksl‘{}'lﬂai : 300

Note/dZ : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.
aﬁmﬁmnﬁaﬂmwﬁmmaﬁuﬁmmaﬁw&ﬁm

g}m%mwmmmlmmmmmw

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

?W%ﬁmuﬁm%ﬁwm.ﬁ,ﬁﬁmﬂuﬁm

(3) This paper comprises of Five Sections. Sections I and 11 are compulsory
whereas only one Section out of III, IV and V is to be attempted.

I8 99T ule @uet = # i
Nﬂmmmm%?lvuaﬁaﬂmwm,wa
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Section—I

QUs—I
MENTAL AGILITY
(Compulsory for all)

1. Five friends A, B, C, D and E are sitting together. In how many ways can they sit
so that B and C do not sit together?

ye 13 A B,C,D 3N E W& WY 93 €| I8 forad alisl @ 30 a® 93 ¥Fd % %
BakRCcws oy 7 &?

(1) 64 (2) 76 (3) 68 (4) 72

2. There are deer and peacocks in a zoo. By counting heads they are 80. The
number of their legs are 200. How many peacocks are there?

e fafsamn d§ & R ofe Wik #) el 1 W IR @& 80 B I 90 A
& 200 B) 98 fhad @ €7

(1) 20 (2) 30 (3) 50 (4) 60

3. Find the number which when added to itself 13 times, gives 112
Bl G 36 TEN § 13 90 el W, §@ 112 8 J @, @ §ew J;a R
(1) 7 (2) 8 (3) 9 (4) 11

4. 1f GIVE is coded as 5137 and BAT is coded as 924, then GATE is coded as
af GIVE H #fEn 5137 ¥ i BAT i FfeT 924 3 @ GATE #t sifen gt

(1) 5427 (2) 2547 (3) 5247 (4) 5724

5. Which is the next number in the following series?
ﬁmﬁ#ﬁﬁﬂﬁ@wﬁ%mﬁﬂmw-ﬁ%?
7: 28: 491 70, 91, 112, """

1) 135 (2) 134 (3) 133 (4) 130

(152)
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6. Find out the missing number in the following figure :

Frafafga o 4 s9-dt gen g2 @ 27

Ay
KA DIANE

(1) 52 (2) 36 (3) 117 (4) 81

7. If the numbers from 5 to 85 which are exactly divisible by 5 are arranged in
descending order, which would come at the eleventh place from the bottom?

(1) 45 (2) 50
[3) 60 (4) None of the above

58 85 H 3wl # WE 5 A pha: T DA, B W wWF foran
W =33 R A A ww W e -

(1) 45 (2) 50

(3) 60 (4) I90% H q A3 T

8. In a row of boys, if Amit who is 10th from the left and Bini who js 9th from the

right interchanges their positions, Amit becomes 15th from
are there in the row?

T e f 5, o ) Bl 104 & SRS g g ot 8

A WA R NE F waw o § Al i
i 3 o) wo &7 W 0 3 A 1S R T g

(1) 23 (2) 27 (3) 28 (4) 31

IEft H(}W many boyS

(152) 3
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9. How many triangles are contained in the figure given below?

i s & el B st # 7

(1) 8 (2) 10 (3) 12 (4) 14

10. A and B are brothers, C and D are sisters. A’s son is D’s brother. How is B
iIClalcd W C?
(1) Father (2) Brother (3) Grandfather (4) Uncle

I A B -G & 9§ 3 W@ C 3R D T-g@ $ &6 T I A FT T5H

D & 9 8, @ B 3R C 1 g9 1 27
(1) foar (2) é (3) T (4) ==

11. Two persons A and B started from two different places towards each other. If the
ratio of their speeds is 4 : 7, then what is the ratio of distance covered by A and
B respectively till the point of meeting?
A s A o B @ fifm = A w-g@ ool wem §) AR I A H
yqa 4:7 %, A I @-gR F BN F WH W I @ W e W
AT qm?
(1) 1:2 (2) 3:4 3) 4:7 (4) 5:3

which is 700 metres long, is running at the speed of 72 kilometres per

. A train, . . :
12 + crosses a tunnel in one minute, then the length of the tunnel is

hour. If
(1) 70 metres (2) 600 metres  (3) 550 metres  (4) 500 metres

(152)
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13.

14,

135.

16.

(152)

.aw—mﬁﬂsooﬁowama%mmmg

T @ St 700 Her w2, 72 faanfier st g1 @ 1y /@ 59 @ R 3w
T T F () B G e F o wwed }, @ ogon B e e

(1) 70 #Hix (2) 600 #Hiex (3) 550 Hix (4) 500 e
If§-=&b-—=$, thcnﬂ+:+cwillbe
a_ b _c a+b+ec
zr&3‘4“7’?& o o
(1) 7 (2) 2 (3) 4 (4) 1

How many combinations of two-digit numbers having 8 can be made from the
following numbers?

Wmﬁﬁmam@,ﬁmmmmaﬁ?
852176
(1) 9 (2) 10 (3) 11 (4) 12

Arrange the given words in the sequence in which the

Y occur in the diet;
and then choose the correct sequence : dictionary

(a) Fledge, (b) Fleecy, (c) Flesh, (d) Fleece, (e) Fleet
(1) (@), (b), (), (d), (e) (2) (a), (d), (b), (e), (c)
() (@), (c), (d), (e), (b) 4) (@), (), (e), (b), ()
The difference between the interest received from two differ

for 2 years is Rs 2:50. The difference between their intcr::: Panks on Rs 500
Fates js

[ F W R g S0 %}, & ww &

(1) 1% 2) 0-50% ) 250%

(4) 0250,
S

(P.T.0)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



-I-U‘ul'f LU‘-'I b S s L L WS &

17. The number 12345674 is divisible by

& 12345674 fam o fra@ wr=g 27
(1) 3 (2) 15 (3) 9 (4) 11

18. Which Indian Air-Base was attacked by Terrorists during the year, 2016 7?

(1) Agra (2) Kalaikunda (3) Pathankot (4) Gurudaspur
¥ 2016 % aNF, TG T FA @ TE-IW W AGhaNCd] gRI gHCN fR T A
(1) R (2) FEATSHEI (3) TBHHE (4) T

19. Which of the following four crops listed below, is not a pulse crop?
(1) Moong (2) Black gram  (3) Paddy (4) Peas
Arffgd an Gt § ¥ FE-d wEa e A owEa & 7

(1) g1 (2) = (3) 9™ (4) "X

of the following crops is not a Rabi crop?

20. Which on¢

(1) Mustard (2) Wheat (3) Paddy (4) Peas

o @ - A W R e T R

(1) & @ (3) U 4) W
21. If x=-3 then x° _ x? - x will be equal to

afz x @ A o E @ X x? o x ®OAE AW

(1) 15 (2) -27 (3) -33 @) 54

6

(152)
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22.

23.

24.

25.

There is a number greater than 1 which when divided by 4, 5 and 6 leaves

remainder of 3 in each case. Find the largest number smaller than 1000 which
satisfies the above condition.

T SN 1 ¥ A T @ 4, 5 3R 6 @ Rnfa H w2, @ ft @ 3 9
T R} TR TR W 1000 ¥ BA T FA-f TEw 2, N 5 39 FAT WG9 27

(1) 957 (2) 993 (3) 960 (4) 963

Colorless, odourless and non-corrosive air-pollutant is

?Jzﬁwﬂfnﬁs,ﬁmﬁ?mw%mﬁmﬁwﬂﬁﬁm%,aﬂq-mﬁ-mﬁ
f

(1) SO, (2) CO (38) CO, 4) 0O,

Ajay ranked sixteenth from the top and twenty-ninth from the bottom among

those who passed an examination. Six boys did Mot participate in th
competition and five failed in it. How many boys were there in the class? :

W At o vlhan I F fie Iw A Ao ok e R

Hreiigef
mmﬁmﬂmwmmmm?lmﬁgglﬁ

(1) 40 (2) 44 (3) 50

If the seventh day of a month is three day

. 8 earlier th i
be on the nineteenth day of the month? = Fnd”f: what day wil] jt

(1) Sunday (2) Monday (3) Wednesday (4) Frig
M & W F wed JFaR ¥ d Y
fot g7 L TP
(1) Toam (2) Hr (3) g ) war
7

(P.T.0,)
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20.

27.

28.

29.

Section—II
Qus—II

CHEMISTRY
(Compulsory for all)

The intermediate involved in S, 1 reaction is

VE) e hcaion (2) radical (3) carbene (4) carbocation
Sy1 affem o afdfom sy R

(1) FEATA 2 Wwa ~ (3) FER (4) FTETHCIEA
Three classes of alcohols may be distinguished by

(1) oxidation (2) reduction (3) pyrolysis (4) cleavage
TR ® A YR wig feen S wea @

(naﬁﬁmﬂmll’)mﬁm (3) wRIfaR@E gr1  (4) TS A

The carbolic acid 1s

Fat o
(1) C¢HsCOOW (2) HCOOH (3) CH,COOH  (4) C¢HsOH
6

The mechanism of dehydration of an alcohol to give an alkene involves

formation of

(1) carbanions (2) carbenes (3) free radicals (4) carbonium ions

g 0§ R T A Pl s d B A R
gfefed 87

| g O @ B WRFT (o) Fifm s
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30. Which of the following is an example of a condensation polymer?

(1) Nylon-6-10 (2) High density polyethylene
(3) Orlon (4) Teflon
Fefafen & & F-71 & g9 e = e 27
(1) TRAA-6-10 (2) 3= w9E viferefufem
(3) JAr@ (4) dwarT
31. Primary alcohols are oxidized to aldehydes by
(1) KMnO, (2) K,Cr,0,
(3) R,CulLi ~ (4) pyridinium chlorochromate
S TehigaER R g sl @ ofeemreel d wRafla g 2
(1) KMnO, grI (2) K,Cr,0, gm
(3) R,Culi g (4) fifehem ez ao

82. A strong base can abstract an a-hydrogens from
(1) alkene (2) ketone (3) alkane (4) amine

Uh 3= &Hal G0 &R o-FRENA F FErem 2
(1) u=fm = (2) #RH | (3) T | (4) Qtﬂ'-HE’l

33. The reaction among a prim ami
n ;
KOH is known as i © chloroform and few drops of alcoholic

(I) Carbylamine reaction (2) Mendius reaction

3) Perki i :
(3) Perkin reaction (4) Reimer-Tiemann reaction

T I TN, R W 59 d2 wwhe Ko
H % 3y

(3) nfaa afufdan (4) T3AR-fAmR A

(152) 9
(P.T.0)

[ ]
collegedu nia
° =] India’s largest Student Review Platform

el



34. Benzene diazonium chloride reacts with hypophosphorus acid to form

(1) aniline (2) benzene (3) phenol (4) benzaldehyde
T T @ T A SEE FHA0EE TRUSORE 3 % oy ARy Far 2
(1) TR (2) a=f (3) HTHA (4) STfeearse

35. The number of a- and B-particles emitted in the nuclear reaction
o0 Th??® = g,Bi%"? js

(1) 4o and 1B (2) 8a and 1B (3) 3o and 7B (4) 4o and 78

mﬁ?ﬁa Afufwn (Jferm fowem)  Th?28 o Bi*'? @ R o- @ p-@0 Iwfia
?

(1) 4 T 18 (2) 8a @ 1p (3) 3 T 7B (4)4‘:1@7\’--

36. For the reaction, 2NO,(g)+ 10,(g) © N,0<(g), if the equilibrium constant is

K ,. then the equilibrium constant for the reaction, 2N,05(g) & N,0, + 0,(g)
would be

@ AR 2NO,(g)+10,(g) & N,0,(g) ¥ R @zma fRws K, B, ™
AT 2N,04(g) > N,0, +0,(g) # ar= fems Fn gm?

2

1
(1) K2 @) — 8) —3 (4) 2K,
p K; K2

37. The pH of a 0-1 molar solution of the acid HQ is 3. The value of the ionization
constant, K, of the acid is

w o HQ ¥ 01 Hiek fae@ (molar solution) F pH 3 2| I I &
s f@® (lonisation constant) K, 1 UH 1 &7

1) 3x10°" (2) 1x107° (3) 1x107° (4) 1x10°7

10
(152)
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38. A mixture of ethyl alcohol and propyl alcohol has a vapor pressure of 290 mm at
300 K. The vapor pressure of propyl alcohol is 200 mm. If the mole fraction of
ethyl alcohol is 06, its vapor pressure (in mm) at the same temperature will be

A Tehledl U6 WA Tohied & TF MEW #1909 @@ 300 K W 290 mm 2
NS Thige F a9 @ 200 mm 2| AR IURA THEd F W I (mole

fraction) 0-6 ?, @9 3GH a9 T (in mm) I T W T TM?
(1) 350 (2) 300 (3) 700 (4) 360

39. The vapor pressure of water at 20 °C is 17-5 mm Hg. If 18 g glucose (C¢H,,04)is
added to 1782 g of water at the same temperature, the vapor pressure (mm Hg)

of the resulting solution will be

20 °C WA W IHl F 9™ @ 175 mm Hg R IR GHN (C(H,,0,) F 18
Wﬁmmml?s*zgmﬁﬁﬁmm,ﬁwlgiﬁﬁwé
9™ & (mm Hg) 41 &m?

(1) 17-675 (2) 17-325 (3) 16:500 (4) 15-750

40. T}}e va'n’t' Hoff factor of BaCl, at 0-01 M concentration is 1-98. The percentage of
dissociation of BaCl, at this concentration is G

0 ET ‘ '
%mﬂBamzﬁmﬁmIQB?IWWﬂBaCIZEFI

(1) 49 2) 69 3) 89 (4) 98

41. ' ' vi
1. The highest electrical conductivity of the following 8qQueous solutiong j
ons is of

(2) 01 M fluoroacetic acid
(4) 0'1 M acetic acid
fefefaa sef faemm § @ fr forgga <o s 27

(1) 0-1 M SERRNRRT ar (2) U'IMW%
(3) 01 M FwRNefRfes e (4) 01 M TS sy

(1) 0-1 M difluoroacetic acid
(3) 01 M chloroacetic acid

(152) 1
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2.

43.

45.

What is the time (in sec) required for depositing all the silver present in 125 ml
of I M AgNO, solution by passing a current of 241:25 A? (1 F = 96500 C)

I M AgNO, faei@d & 125 ml & &< HISR @l 9id # wHha =0 & ol e
97 (%3 #) a& 241-25 A fagqa varfga & §mM? (1 F = 96500 C)

(1) 10 (2) 50 (3) 100 (4) 1000

Solubility of the BaSO,, SrSO,, CaSO, and MgSO, in water increases in the
order given below :

RaSO,, SrQ0,, CaSO, TH MgSO, H wa o fygwa 2 22 #u v R :
(1) BaSO, < SrSO, < CaSO, < MgSO,
(2) SrSO, < BaSO, < CaSO, < MgSO,
(3) CaSO4 < MgSO,4 < SrSO, < BaSO,

(4) MgSO, < CaS0O, <BaS0O, < SrS0,

The dead burnt plaster is

T e w8
(1) CaSO, -3H,0 (2) CaSO, -2H,0
(3) CaSO, (4) CaSO, -H,0

Lassajgne’s test is for

(1) nitrogen (2) cadmium (3) chromium 4) zinc
asE qha g 2 fres form 27
(1) AT (2) efiram (3) Fifam @) T

12
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47.

49,

50.

(152)

Which of the following is soluble in ethanol?

Fe 3 & a9 e § qoha 27
(1) BeCl, (2) CaCl, (3) BaCl,

Formula of Calgon is

A F G 2

(1) NagP0,q (2) Na,PO, (3) Na,PO,
Ore of iron is

(1) magnetite (2) sphalerite (3) malachite

ATH I 8

(1) Mz (2) e (3) AR

Which of the following has angular shape?
f % A R Ff s T 27

(1) N,0, (2) N,0, (3) N,O;
Bronze is an alloy of the following
(1) Copper and Zinc

(3) Iron and Chromium

wan (3t) e a Ry g 8

(1) afer & s (2) dfa1 @
3 : -
(3) ¥E @ wifirm (4) ot @ ey

13

(4) srcl,

(4) Na,HPO,

(4) kaolinite

(4) Fanformrse

4) No,

(2) Copper and Tin

(4). Iron and Manganeac

.T.0)
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51.

52.

53.

54.

Section—III
Que—III
BOTANY and ZOOLOGY

(Botany)
Stem and root tips die due to the deficiency of

(1) calcium (2) nitrogen (3) sulphur

(1) HfAmm (2) TEZISH (3) TEH

The Second International Rice Congress was held In
(1) Bangkok (2) Manila (3) New Delhi
R i T HE A S R oA

(1) FE W (2) W # (3) 7§ gt #

Edible part of onion is

(1) bulb (2) corm (3) rhizome

arrs @ -9 A gAaa 37

(1) o (2) = (3) TEHA

One internode long phylloclade is

(1) culm (2) cladode (3) bladder
C

& A @ fheEe #i Fe @

(1) FA (2) FEE (3) =

14

(4) phosphorus
(4) HEHTE
(4) Kualalumpur

(4) TG ®

(4) stem cutting

(4) @1 1 T
(4) pulvinus

(4) vedTg
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SS.

57.

(152)

The acid rain destroys vegetation because it contains

(1) ozone (2) sulphuric acid

(3) citric acid (4) carbon monoxide

et et afy AT oW R, Wi A 2

(1) 3NS= (2) ¥ RF a9 (3) Ridw anm (4) FEd7 ARt

The Central Tobacco Research Institute is located at
(1) Kolkata (2) Vijayawada (3) Hyderabad (4) Rajmundary

TG, SE A wew wwt R 27
(1) Frcwprar (2) fosmam (3) ¥ztare (4) TSzt

Yellow Revolution is most suitable for

(1) desert areas | (2) less irrigated areag

(3) highly irrigated areas (4) hilly areas

Geft FR R T 3

(1) o8 &3 § (2) #9 fer o &y 3

(3) Vq e I & 3 (4) wErd &y

Black soil is best suited for

(1) cotton (2) coffee (3) rice (4 ¢

FIcl o1 FER I9Y @ N

(1) v & (2) Fh o (3) =& # 4

E

15
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59.

60.

61.

lodine is obtained from

(1) Laminanra (2) Polysiphonia (3) Chara (4) Spirogyra
ety fRar smar @

(1) SR & (2) vichamswifar & (3) /7 d (4) EOTE 8
Which vegetable oil is suitable for heart patients?

(1) Sunflower oil (2) Groundnut oil

(3) Mustard oil (4) Soyabean oil

gea-UTAl & o 39y avedfa do &
(1) gEE ¥ () TRl dw (3) FE dd (4) B a9

Polyploidy can be produced artificially by

(1) colchicine (2) interbreeding (3) line breeding (4) self-pollination

FH & & sgftvn forent i 1 Tl &
(1) Freier g (2) soesiifen gr
(3) Yfiga abid G (4) @-T g
62. An example for semi-dwarf variety of wheat is
(1) IR-8 (2) Sonalika (3) Triticum (4) Saccharum
e g TR ST R
(1) IR-8 (2) @rfer (3) RRFH (4) FFEw
it OF classification is
63. Basic U S (2) family (3) species (4) order
1) g™
16
(152
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i 1 a2
(1) Sfg (2) Hfieh (3) wefia (4) 3

64. Triticale is obtained by crossing wheat with

(1) oat (2) barley (3) maize (4) rye
ﬁ%mmmm%mmw%?
(1) 3re (2) (3) e (4)

65. Kranti, Pusa Agarni and Pusa Bold are improved varieties of

(1) Urad bean (2) Sunflower (3) Chick pea (4) Mustard
mﬁ,maﬁﬁrwﬁa%@mﬁm%?

(1) 3@ A (2) T (3) W (4) T

66. Which one is not a source of carbohydrate?

(1) Rice (2) Millet (8) Sorghum = (4} Gram

e & & a7 wetenge @1 @ T 7

(1) s @ Bz (3) wyEm (4) =
67. The method of correcting the defective genes is called

(1) genetic engineering (2) gene therapy

\3) somatic hybridisation (4) protoplast fis;,

n
v R GF TR o R

(1) s sfefER (2) s R (3) 3w Fww ) Mo
REeE

(152) 17
P.T.0)
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68. Hybrid vigour can be maintained for long periods by

(1) clonal selection (2) cross-pollination

(3) mutation (4) self-fertilization
G WIE o gug & (e ghaffa fen s R
(1) ¥ 997 gR1 (2) W-TF g (3) Jafeds g (4) |-FEER W

69. Genetic variability cannot be created by

(1) binary fission (2) mutation
(3) clonal selection (4) hybridisation
AR frm e gr a2 |
(1) fg-@&d (2) JafEd (3) T =T (4) GFO
70. Jaya and Ratna developed by Green Revolution in India are the varieties of
(1) maize (2) paddy (3) wheat (4) bajra
aa § e R % g ka9 9 ‘wn’ TR getd 27
(1} W) (2) 9 (3) T (4) =T

71. Pieces of plant used in tissue culture is called

(1) explant (2) somaclone (3) inoculant (4) clone

maﬂqgmﬁmﬁﬂﬁﬂﬁmﬁmm%
) TR Q) e (3) T (4) FH

is the source of first induced mutation?

at
o ray (2) UV-irradiation
(1) Gamme: |
(4) Cosmic rays
(3) X-ray
18
(152)
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vom Ya Iafads &1 d@a w27

(1) T oo (2) UV-fered (3) X-fereor (4) Hifeh T
73. Monosomy and trisomy can be represented as h

FAEH q geaft # zefa s 2

(1) 2n+1,2n+3 (2) 2n-1,2n-2

(3) 2n,2n+1 ' 4) 2n-1,2n+2

74. Which one of the following has maximum diversity in India?

(1) Mango (2) Wheat (3) Tea (4) Teak
Fe & @ el s & ot Rfe ot st 27
(1) 3m™ (2) T} (3) W™ (4) "my

75. Somaclonal variation appears in plants
(1) growing in polluted soil or water

(2) exposed to Gamma-rays
(3) raised in tissue culture
(4) asexual reproduction

At R N § ek g a2

(1) T 5 0 v f e @y 3
(2) - &% g

(3) Fa% "add & 3y
(4) Afis T

(152) 19
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(Zoology)

76. “Omnis cellula e cellula” (All cell from cell). The statement was given by
(1) Robert Brown (2) Rudolf Virchow
(3) M. J. Schleiden (4) Theodor Schwann

“Frafm Agqer § Aqen’ (@f B T ¥ AR § T Al HE F
A w9 R)) W we e o @?

(1) Tad 913 (2) T% fFla  (3) We o vl (4) Frare @

77. Inner membrane of mitochondria is usually highly convoluted forming series of
folding known as

(1) Cristae (2) Grana (3) Lamelle (4) Thylokoids

TR B R g vl gEa faer F ¥ ad R, I FW A
;

(1) e (2) I (3) @it (4) TS
78. Which of the following represents the correct order in Prophase 1 Meosis
division?

(1) Zygotene, Diplotene, Pachytene, Leptotene, Diakinesis
(2) Diakinesis, Diplotene, Leptotene, Pachytene, Zygotene

3) Leptoten® Zygotene, Pachytene, Diplotene, Diakinesis
(3) Lep *

pachytene, LEPLOLENS, Zygotene, Diplotene, Diakinesis
(4) Fac ’

Wmmﬁﬁnﬁmﬁﬁﬁﬂ—mﬁwmmw%?
m,m,m.m,mﬁm
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79'

80.

81.

83.

(152)

A, G, Cand T are nitrogenous bases of DNA. The pairing is
DNA%WMA,G,C@T?IHWW%
(1) A-G, C-T (2) A-T, G-C (3) A-C, G-T (4) A-T, G-T

Non-protein part of an enzyme is known as

(1) coenzyme (2) apoenzyme  (3) holoenzyme  (4) amino acid
LS IEC I C i B L p— L

(1) Hi=men (2) TITTEH (3) Eraire=mgm (4) T o

The common phase in aerobic and anaerohbje respiration is

(1) glycolysis (2) TCA cycle
(3) oxidative phosphorylation (4) Krebs’ cycle
AR 3 A e wer e 3

(1) EHemRRa (2) TCA ¥%

@) ieRE weprme (4) %59 %
Which State has the |

(1) Tamil Nadu (2) Karnataka (3) UP

(1) afterg (2) FAz* (3) Ioye
The term ‘Evergreen Revolution’ has beer given by

(1) Dr. A. S. Faroda
(3) Dr. V. L. Chopra

(2) Dr. M. s, Swmm"lathan
(4) Dr. R 8. Pafoda
21
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A Hifa weg fma grn fear mn 7
(1) o To Wo S (2) S0 THo TWHo THHIH
(3) To o o =TT (4) Fo Ao THo TE

84. Which one of the following is not a steroid hormone?

(1) Aldosterone (2) Androgen (3) Estrogen (4) Thyroxine
= 3 ¥ FR-m v dH T 27
(1) TR (2) T (3) T (4) o

85. Which of the following food-chain is correct?

(1) Grasses - Chameleon - Insect —» Birds
(2) Fallen leaves — Bacteria — Insect - Birds
(3) Grasses —» Fox — Rabbit

(4) Phytoplankton - Zooplankton - Fish

ﬁﬂ%ﬁﬂﬁﬁﬁﬁ?mﬂ-’iﬁmﬂ?lﬂﬁ%?
[2)ﬁrﬁqﬁ1ﬂam—+ﬁz—>nﬁ

der Fleming extracted Penicillin from

B6; Bin Sk (2) Penicillium notatum

(1) Bacillus breviS

) penicillium chrysegenum (4) Penicillium griseofulvin

22
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W e T 3 IRRRE A d A R e R

(1) e g (2) ARl TRy

(3) AT FrEmtslay (4) MRRREm meRmeata
87. First manmade cereal plant is

(1) Triticale (2) Hordeum vulgare

(3) Secale cereale (4) Oryza sativa

Ta-fffa yom sFm w gt s-a ?7

(1) RfFs (2) Bfémm awmit  (3) St w= (4) v Aevean

88. Indian Agricultural Research Institute is at

(1) Lucknow (2) New Delhj (3) Mumbai 4) Hyderabag
WTEHT FR R e deam v w27
(1) J&s (2) 7% fo (3) g (4) ¥erare

89. Toxic substances like Aflatoxin, Amatoxin and Ergot alka]o;
oj

A are called
4 :
4 thglt:ide

_ M
EIG W o W
(1) wesfafie (2) SRENMERY @) w4 7

(1) Mycotoxin (2) Phycotoxin (3) Bryotoxin

90. Minisatellites are also known g !
Pfeeme w s S @
— Q) RFLPS (3) STRs " -
(152) » |
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91. Which gene is used for development of salt tolerant crops?
(1) Cry-I gene
(2) Genes involved in protein (LEA gene) biosynthesis
(3) heat shock protein
(4) Both (2) and (3)
mm%%m%%ﬁmﬁﬂ?mmmmi?
(1) Cry-1 3fH
2) Ay g & o Wi @ (LEA SH)
(3) g dr S
@ (@) 3 @)

ropagation (v€ etative propagation) O ava 1s done through
C mmcrcial propag ion (veg propag ) of papaya 1 g
92- D I

‘ d (4) cutting
(1) pudding (2) 1&}’61'1:; am[g; seeds
qd ® Sy Yau (3 yad) .
3 (2) @Ak A (3) & a (4)
(1) T
mi}dt‘w of pea is caused by
g3, Powde™ (2) fungus (3) bacteria (4) Protozoa
" muiﬁwgﬂa%tffﬁ A
et
ELLN! (2) Hdb (3) EIE @) S

idoal gySWw+  * “vinatinn for young plantation 1s

| SYStem (2) furrow system (3) flood ystem  (4) str lp System

24
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95.

96.

97.

98.

(152)

W Y & ed ferd W oanm 2

(1) o3 (Fad) a3 (2) B @

(3) W = (4) S (78) &=

Sweetest sugar in fruit is

(1) sucrose (é) fructose (3) glucose (4) galactose
B R fd s R

(1) Th (2) B (3) (4) TR

(1) Soyabean (2) Rice (3) Cotton (4) Maize
ﬁwﬁﬁq%&aaaﬂmmﬁmmﬁmmﬁmﬁmmp
(1) @rafem (2) <@ (3) HUH (4) wEm
Pollen basket occurs in honeybee on

I ;
:3) prothorac:cl leg (2) mesothoracic leg

) metathoracic leg (4) union of thorax and ahq
R § W afehe T R - .
(1) NefeF ¥ gr (2) FrEafe 9 o
3
(3) e T w () 3 3 M g o
Which of the following phylum/phyla

yla is 1 -
(1) Porifera (2) /:I:hZCh::lswe -
a

25
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Preffan § & @F-a1 49 wqd w0 § w27
(1) T (2) 3NYErET (3) THIZAGH (4) Srsian

99. Which of the following is not found in vertebrate?

(1) Body scales (2) Cnidoblast

(3) Gill opening (4) Bilateral symmetry
%ﬁ%\ﬁﬂai‘i%a&aaﬁhﬁqﬁmmé?

(1) vt T T (2) Frersar=

(3) frd gr (4) SRS |utld

: - . -
100. Which of the following correctly matched regarding an institute and its location

(1) National Institute of Virology—Pune
(2) Central Drug Research Institute—Kasauli
(3) National Institute of Nutrition—Mumbai

(4) National Institute of Communicable Diseases—Lucknow

ﬁqﬁmﬁﬁm—mmﬂmw%mmqﬁmﬁ@ﬁ«g?
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Section—IV
gue—IV
AGRICULTURE

101. Maximum area under drip irrigation is in

(1) Uttar Pradesh (2) Maharashtra

(3) Gujarat (4) Punjab

o far & srwfa aifteram &% aen 83 R

(1) SM¥RU F  (2) 9Jeng # (3) o (4) 99§ #
102. Most poisonous pollutant in water is

(1) arsenic (2) propane

(3) methyl isocyanate (4) carbaryl

v d ged Felden yqus R

(1) JFs (2) SiU=

(3) frurde sy (4) wEie

103. NABARD was established in the year
e fem ad wfa gan w7

(1) 1982 (2) 1983 (3) 1984 (4) 1985
104. First All India Coordinated Research Project was initiated in the crop

(1) maize (2) wheat (3) paddy (4) sorghum

(152) 27 (P.T.0.)
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113. The C:N ratio of humus is
YA F C:N 3gua a2
(1) 10:1 (2) 12:1 (3) 15:1 (4) 20:1

114, Nitrogen content in urea is

gfen § A R AE ad R

(1) 42% (2) 46% (3) 48% (4) 50%

115. Highest use of potassic fertilizer is in the State of

(1) Maharashtra (2) Andhra Pradesh

(3) Tamil Nadu (4) Punjab

frg T § gatfus e 39 @ A g R

(1) #ERTE (2) I (3) WETg (4) S
116. Richest source of vitamin C 1s

(1) Barbados cherry (2) Citrus

(3) Tomato (4) Melon

fyofim ¢ watfos e @ 27

(1) srEeE 9@ (2) 99 (3) TNX (4) TS
117. Highest onion production is in the State of

(1) Uttar Pradesh (2) Maharashtra

(3) Punjab (4) Madhya Pradesh
(152) 30
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o # IATEA gattue fhe T # far R7
(1) IR W (2) WEE (3) uvT= (4) WA

118. Edibl: part of fruits of papaya is

(1) mesocarp (2) pericarp (3) endosperm (4} placenta

Tfid & BT B GR-9 H®qR7

(1) (2) ¥ (3) T (4) T
119. Plant family of mango is

(1) Anacardiaceae (2) Malvaceae

(3) Solanaceae (4) Pedaliaceae

3 fH9 grey ufEr § 3 27
(1) T (2) e (3) TR (4) ey
120. The tree banding is useful for the control of which pest?

(1) Mango mealy bug (2) Chilo partellus

(3) Thrips (4) Whitefly
ft AR #e & Frew ¥g IgEh 27

(1) 0 dieft T (2)E_Fr§a’rtﬂ€m (3) forw

121. The main characteristic feature of an insect is

(4) VEevon

(1) three pairs of legs (2) Malpighian tupy
es

(3) digestive system (4) antenng

(152) 31
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& $ H ger fafine faewar w27
(1) 7 ;e X 2) AR R
(6] P B (4) T

122. The headquarters of “Directorate of Plant Protection, Quarantine and Storage” is
located at
(1) Faridabad (2) Hyderabad  (3) Ghaziabad (4) Pune
“wAe MREH, ST W WY Rewed’” w1 ey FE feud 27

(1) e (2) T @) mEER  (4)

123. - Vector of cotton leaf curl virus 18

(1) Thrips (2) Whitefly (3) Beetles (4) Mites
FUE G Fd AW W dEL FH 27
(1) fr (2) TIRIFAT (3) #fieew (4) WTEE

124. Egg parasitoid for biological control is
(1) Trichogramma SpPP (2) Cotesia spp

(3) Bracon hebetor (4) Campoletis chlorideae

A frm 3 IS T &
' ) Ffr e
(4) FFIARE FHIS

32
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125. Chewing and lapping type of mouth parts is found in

(1) Honeybee (2) Thrips (3) Housefly (4) Aphids

Ta AR TR aen 9@ v e g s 22

(1) el (2) o (3) T (@) feem
126. Father of Modern Plant Pathology is

(1) Louis Pasteur (2) Anton de Berry

(3) Van Schmeling (4) Rudolf von

Ay T I fagm & w9 §
(1) T I 2 WA eI (3 I@ S@fm (4) =% I

127. Bordeaux mixture was developed by

(1) Millardet (2) Fleming (3) Scholz (4) Todd
aiggiaw e s g RERm R wr ar7
(1) fremde - (2) ®fim (3) whe (4) e

128. Bengal famine occurs due to

i ;
(1) brown spot of rice (2) Helminthosporium oryzae

(3) phytophthora (4) Both (1) and ()
TR U A T OWE A
(1) T® =] A ;e - 2) ?ﬁmﬁkwwawamnﬁﬂ
(3) Rt @ (1) @ (2) 3
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129. Causal organism of citrus canker is

(1) bacteria (2) fungi (3) actinomycetes (4) virus

Riga S =1 e 2

(1) ey (2) e @) RAmRREE  (4) fommy
130. The disease caused by Puccinia graminis tritici in wheat is

(1) black rust (2) stem rust

(3) yellow rust (4) Both (1) and (2)

rafif i ffaE 7 & & I = w R7

(1) <AF W (2) RY W (3) ¥ ™ (4) (1) @ (2) A

131. Fusarium wilt occurs due to a fungal organism which is

(1) soil-borne (2) air-borne
(3) water-borne (4) None of the above
wfan fee 3 Fa% S ¥ T g 7
(1) fgd (2) IR
3) Fera(Aa (4) I # q ®IS TR
(
Which drill machine is suitable for high residue retention condition?
132. 1C
(1) Happy Turbo Seeder (2) Zero Till
@) StraW Management System (4) Raised Bed Planter
34
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st ey fewm ¥g #R-w fgw wfl soge @ @7
(1) ¥uft &t et (2) I3 &=

(3) | Y4 a3 (4) T T @R

133. Which instrument deals with primary and secondary tillage?

(1) Mould board plough (2) Desi plough

(3) Rotavator (4) Disc harrow

mﬁaaqaiﬁaﬂuféﬁa%gmh-ma'aamﬁm%?

(1) Aieg @12 @3 (2) <H <
(3) V=R (4) = &
134. Which type of tyre should be used to avoid compaction ip field?
(1) Bladder tyre (2) Narrow tyre |
(3) Regular tyre (4) High dotted tyre

dmﬁm%gﬁaﬁﬁwmimmmﬁmw%?

I =m0 @5 o (3) toEw o (4) ¥ 3t
TR

135. Which type of tynes is used in zero till?

(1) Inverted T opener

(2) L type

3) Traditi
(3) itional tynes (4) None of the above

(152) 35
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(1) 398 & AR P

(5 TR 8 (@) T § @ 9 T

136. For accurate seed rate, which type of metering device is suitable?

(1) Cup type (2) Inclined plate type
(3) Fluted roller (4) None of the above
g d9 @ ¥ F-a diefin feamgw s R7
(1) &9 <59 (2) TFAFE AT AN
(3) TS UK @) T § B
137, Who discovered the nucleus?
(1) R. Brown (2) T Boveri (3) Fontana (4) Palade
aad @ fomd i A7
) e T (@ FoA @ P @) TR

138. Which onc is the right order of mitotic phases?

(1) Prophase > Metaphase > Anaphasc > Telophase
(2) Telophase > Metaphase > Anaphase > Prophase

) Anaphase > Metaphase > Prophase > Telophase
(3

) prophase > Anaphase > Metaphas¢ » Telophase
l
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AT T W GE w27

(1) A > FeHA > e > Aeirs
(2) TIES > WA > TS > W
(3) THS > HTHe > e > Al
m)m:.mﬁm:»m

139. Nullisomic refers to

FelSiitF weita = 2

(1) 2n-1 (2) 2n-1-1 (3) 2n -2 (4) 2n+9

140. Duplicate gene action refers to

gl T Qe et w2

(1) 9:3:3:1 (2).15:1 (3) 9:7 (4) 3.3

141. Krantz type leaf anatomy is found in

(1 C, (2) C;

(3) CAM
(4) None of the above

e A @ R 3wy o e o a4
(1) C, (2) C,4
(3) m (4) IH K ¥ 3¢ 79

152
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142. The plant in which water use efficiency is higher is

(1) CAM

[8) ‘¢,

(2) Cq

(4) All of the above

¥ N § s swE qaar R B 27

(1) (2) Cq

143. Day neutral plant is

(1) maize

(3) rice

3 =g @ F-91 27

bR (2) FHaI
144. The term vitamin was proposed by

(1) Funk (2) Fisher

ﬁ?\ﬁﬂ b{CH ﬁ!ﬁ BITIER &F?

(1) & (2) Fm
145. Dark reaction takes place’in

(1) Stroma (2) Grana

% @ &A@ R

(1) gl (2) I
(152)

(3) Cs, (4) I T

(2) buckwheat

(4) Both (1) and (2)

~(3) EE (@) (1) @ (2) &
(3) Watson (4) Shelford
(3) aweE (4) FeHIE

(3) Chloroplast (4) Golgi body

(3) FANER (4) Mestt T

38
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146. Evergreen Revolution term was coined by

(1) M. S. Swaminathan (2) B. P. Pal

(3) Norman Borlaug (4) Joginder Singh

Fq-gE wifd wee freR fe?

(1) TWo THo @Y (2) o dlo U
(3) Fhdq s | (4) MR fa=

147. BISA stands for
(1) Borlaug Institute of South Asia
(2) Borlaug Institute of Semi Arid

(3) Barley Institute of South Asia
(4) None of the above

ﬁoﬂﬁo@oﬂaama
(1) Fi =gz % amy ofim
(2) s FRESE e W e

(3) ol FHIE 3% Ty oy
(4) 37w d B *I T

148. Mass contact is communication for
T 7 ¥ @ mem #e
(1) 2-5 (2) 10-12 —IT =

152) -
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149, MANAGE is situated in

(1) Hyderabad  (2) Muradabad (3) Patna (4) Delhi
S Fa e R0
(1) R (2) JUCTETS (3) & (4) fegt

150. Training and Visit System was first introduced in the State of

(1) Rajasthan (2) Maharashtra
(3) Uttar Pradesh (4) Puducherry
Eﬁnm%ﬁzwﬁ'mmmmﬁﬂb‘MW?
(1) TSEAH (2) WETE (3) I 5 (4) Ig=d
40
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151.

152,

153.

154.

(152)

Section—V

Qqug—V
PHYSICS and MATHEMATICS
(Physics)
Parsec is unit of
(1) time (2) temperature (3) distance (4) speed
TREF T R
(1) == (2) dushn H - (3) g H (4) 9 &

fefrfta afen-oftr & weal 1 sifem wen 2

(1) 1 (2) 2 (3) 3 (4) 4

A particle of mass 4 gm moving w; i
g with a velocity 10 : +
mass 16 gm and sticks to it. The speed of the ﬁyal:;ﬁi PHikes a particle of

4 gm FAA H G F 10 m/sec F I ¥ T R4
fﬁnmﬁmmﬁﬁwwglmwaﬂs %Wlﬁmm%

(1) 25 m/sec  (2) 40 m/sec B) 05 m/sec  (4) ]
Sec

A body in circular motion with constant speed has
(1) constant velocity

(2) no force acting on it

(3) no acceleration

(4) no work done on it in one cycle

41
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155.

156.

157.

(152)

fer =@ @ ot geie g w Refia R five

(1) # am fer g R (2) W F§ o T& T @

(3) F1 HI§ =0 7 Far B (4) WH o6 § F§ F T a2
In a satellite weight of a 60 kg man is

(1) 60 kg (2) zero

(3) infinite (4) between O and 60 kg

60 kg s ¥ frft = w1 fft gmre § W g

(1) 60 kg | (2) I3
(3) 3 (4) Y@ W@ 60 kg F w4

A capillary with one end dipped in a liquid has same level of liquid inside and
outside it for the value of contact angle

(1) 0° (2) 90° (3) obtuse angle (4) acute angle

@ﬁmﬂﬁﬁﬁ,ﬁwwﬁuﬁﬁw%,tﬂmmmmmaﬁ%m#

(1) 0° (2) 90° (3) afer o (4) =g BT

A spring stretched by 5 cm has potential energy V. If it is stretched by 15 cm,
sp _
then potential encrey is

%5cmﬁ§ﬁﬁﬂ”{3ﬂiﬁlfﬁlﬁﬂ"ﬂfl’%lqﬁ$@ 15 cm @i SR, @

frdl

) fufet Sl @M

(1) 3V (2) oV 3 3 5
42
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158. For a falling body of spherical shape in a liquid with terminal velocity v (r being
radius of body), which of the following is true?

(1) vr is constant (2) v/r is constant

(3) vr? is constant (4) v/r? is constant

fft gg o foft icfia five %, Red e r R, v o 3 A A @ B & R
I qF 27

(1) or T R (2) o/ Praw R (3) or? PR ¥ (4) vyr? P R

189. The mean translational kinetic energy of a perfect gas molecule at T°X 1is
(k being Boltzmann constant)

Bt ol N F @ o A st R I TOK aWEE W -
- ) TR R (k Sz

(1) kT (2) 2kT (3) % kT @) %I

160. A drop of liquid of radius R Splits up into 10° droplets

. > s of radij
tension of liquid is T, the energy needed in the process dii 7. If surface

1S

R B=m it & 4z r fism ) 106 '
@ hhaT 3§ =g = anf Wﬁﬁﬁmmmq&‘famT%,?ﬁ

(1) 4=RT (2) 40nR>T (3) 396nR3T 4) 99752
. TR°T
161. The average velocity of ideal gas molecule is given by
wed AW F A oot M g @
8kT 3kT
1 [BKT o |3KT 8RT
L N B Y7~ @) [3RT
m

(152) 43
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162. A Carnot engine operating between a reservoir at temperature T and sink at
27 °C has efficiency 25%. The value of T is

(1) 127 °C (2) 127 °K
(3) 400 °C (4) None of (1), (2) and (3)

T a9 % Uk a wd 27 °C &% U 9% & a9 @ HH I @ FHA 3~E 6
QM 25% 81 A9 T # 9H &

(1) 127 °C (2) 127 °K

(3) 400 °C (4) (1), (2) @ (3) # & =3

163. In wave equation x =2-0cos [O - S0t + %}]’ x is in metre unit and t in second unit.

The maximum acceleration of the medium particle is
n : ;
- =9. 0.50t+ % | 8§ x fiw @ t v whE § R WEH F FW
aor gl x =2 Ocos[ 4)

1 sfosad o 8
(1) 0-05m/s* (2 0:50m/s? (3 2:0m/s’ @) 2.25m /s’

sound with frequency v is moving away from a stationary observer

164. A source of - al to velocity of sound, the frequency heard by the observer is

with a veloci
o 1 5 A o o & R,
@aﬁﬁwﬁfﬁ

g @) v 3) 2v (4) 5
) =z
3
44
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1685.

166.

167.

168.

(152)

The work done on an electron revolving around nucleus in H-atom in one
complete cycle is

(1) 136 eV (2) -13-6 eV (3) 102 eV (4) zero
Hammﬁm%aﬁwwmm@ﬁﬁ%mmm
(1) 136 eV ) -13-6eV (3] 102 eV 4) YA

Which one of the following is not a semiconductor?

A= ® R} ordares 22
(1) GaAs (2) Si (3) Ge (4) c
A piece of Cu wire of length L is drawn into a wire of length 4L, Ty, resistance of

the wire becomes

o . .
(1) one-fourth  (2) four times (3) sixteen times (4) two times -

(1) diamagnetic
(2) paramagnetic

(3) ferromagneti
ol (4) nonmagnetic

Rll wd & o1 R T A g 4 o &
W) ®=f ) gy () g
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169. A radioactive substance decays to one-eighth of its initial mass in 9 seconds.
The half-life of the substance is

s WeidfErm gl 0 Fve § A poWH H ed WM @ ST d1 wqd H
G- R

(1) 3 seconds (2) 72 seconds  (3) 3 seconds (4) 27 secnnds

170, Tu Lonveil a galvanvmcter into a voltmeter one needs

(1) low resistance in parallel (2) high resistance in parallel
(3) low resistance in series (4) high resistance in series
et Aoy F Sreede # @ged ¥ fag =rfe
(1)Wﬁm9ﬁrﬁﬂ (2) @R # I WY
@) Aofim # =3 Sfe0d (4) Ifrm # 3= wlaw

171. Dimension of L/R 18
(1) that of time-period (2) that of frequency
(3) that of current (4) that of voltage
L/R # fm T R, Ll

(1)z:|qaml’ﬁﬁ (2) smgf H (3) Frga-wm (4) Tt &

172. Which on€ of the following is true?

: ] same nature
(1) Heat waves, light waves, microwaves and radio waves are of

i g are of same nature
1 ound waves aﬂd radio wave
._ht waves, microwaves, §
(3) Light

. ture
' d waves and radio waves are of same na
aves, light waves, soun
(4) HeatW

46
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e & 8 a9 o 7

(1) ST, o, "R, R ed aoi i v w R
(2) ST, YHMI, WEH! W@ @ w0 f THh o R

(3) WM, WHh!, @& @ e qti H wwh o R

(4) e, v, @ w e qoi B R o 2

173. Which one of the following spectral series of H-atom lies in visible region?

(1) Brackett (2) Balmer (3) Lyman (4) Pfund
H-vmy 1 Saga afmi & a9 g wm § 27
(1) s (2) qWR (3) WATEHA (4) Pz

174. In Young’s double-slit interference pattern, a fringe-width is

(1) width of a dark band
(2) width of a bright band
(3) width of a bright band + width of a dark band

(4) half of the sum of widths of a bright band and a dark bang
& f-Rl saftw # wRer 4 e

(1) =™ afg $ e & qua 7 2

(2) ¥ Uigh B M F v g 2
(31mlﬁﬁﬂqﬁ$l3ﬁﬁﬁm%!ﬁﬂ$mﬁ?ﬁ%
(4)m@mmﬁﬁaﬁmﬂmw@%mmg
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175. Which one of the following is true?
(1) In photoelectric effect, light behaves as a wave

(2) In photoelectric emission, there is time lag between photon incidence and
electron emission '

(3) Photoelectric emission is possible with any frequency light

(4) photoelectric emission is possible with light of frequency above a certain
minimum value for a given metal

fm 4 8 a7 &9 87

(1) ST IV # TN qOTEq, SEER Al
(2]Wmﬁ%wﬁmm%mmm%
(3) ft oft MR F TEW A YA IEO TG R

[4)mm$mmm@ﬁﬁam%mﬁwﬁr%ﬁm
3 A avd R

48
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(Mathematics)

176. In a group of 800 persons, 550 can speak Hindi and 450 can speak English. The
number of people who can speak both Hindi and English is

800 WMt & wh wE § 550 WM fedt v wE § 3tk 450 i s e T
ﬁlmmﬁmﬁﬁaﬁmﬁﬁaﬂaﬁﬁami,ﬁfﬁ

(1) 250 (2) 200 (3) 150 (4) 100

177. The third term of a GP is 4. The product of its first five terms will be

ﬁwﬁauﬁmﬂuﬂm#mnua4maa9mﬂ%mwhqﬁﬂmm
(1) 43 (2) 4° (3) 4 (4) 25

178.  The vertices of triangle are A (1,1), B (4, 5), C (6,13). The value of cos A wil] be
e 0 B & MR A(L1), B(4,5), c(6,19) &, @ cos A F Wy g
L o & 3 57 50

179. IfA(_er'r 3[2!3}: C("2,"4
18

M A(-21), B(2,3), C (-2, -
= -4)?ﬂ?ﬁ%ﬁ,ﬂ’rmaﬂraca;mmm

1wl ) ) g
3

) are three points, the angle betweep, BA and Bc

(152) 49
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180. If the line passing through the points (a, 2a)and (-2, 3)1is perpendicular to the
line 4x + 3y + 5 = 0, then the value of a is

R frall (a,2a) 3R (-2,3) § TR A TE wEE 4x+3y+5=0 % TEaq
8, 4 a & °4H

14 16 18 4 12
= @ < ®) < i

181. The slopes of the lines which make an angle of 45° with the line 3x-y+5=0

arc
mmﬁﬁmﬁiWSx-y+5=0ﬁim45°$Imm%,ﬁ'ﬂ
1 -2.3 (2) 2, -3 @ -2,4 (4) -2,-%

182. The equation of the tangents to the ellipse 4x” + 3y? =5 which are parallel to
y=3x+ 7 are

ﬁdqﬁ“hsy?:s?ﬁtﬂmmaﬂiﬂy=3x+7ﬁaﬂmﬁ,ﬁaﬁw%

95
i (2) y=3x1t,—
(1) y=3%x*4y73 12

135 155

— 4) y=3x%,——
(3) y=3xt 479 ( 12

!.'jlo&x e"”-ngex

[
83 [hﬂ va uc 3log,. x
1 * l e 1og.

dx equals
- 82 log, x

Eluggx _E4iugex

e
-—H---___—-—_v
] ealose" g e

dx & A

5
2 4

% 4 X
(1) £+c (2) %—+C (3) 4+C 4) 5+C
3

50
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184. If P(A)=0.7, P(B)=0-7 and P(B/A)=0-5, then P(A/B) equals
¢ P(A)=0-7, P(B)=0-7 3R P(B/A)=0-5, @ P(A/B) # WM &

g 5 5 -
1 = @ = 3 7 ¥ 'z
185. If
afe
1 X x+1
flx)=| 2« x(x-1) (x+1)x

3x(x-1) x(x-1)(x-2) (x+1)x(x-—1]
then f(100) equals

@ £(100) F 7

(1) 0 (2) 1 (3) 100 4) ~10g

-

186. If matrix A =

ntrf-ll

b c
¢ a|and A% =], where q, b, ¢ are Positiye
5 B real numberg such

that abc =1, then a2 + p3 + ¢3 equals

-

b ¢
af T A=(b c a| sk A=, wafh >0 p,
a b ‘

y 0> 0,
J E)O,ﬂbc:] ‘cﬁ’ H:'

5 o o

a®+b®+c® = w" Bm
(1) 1 (2 2 (3) 3

(152) 51
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187. If

" 1 4
flx)= —% B & %0
X
= a , X=0
V16 + Vx -4

then for what value of a will f(x) be continuous at x=07

Do ¥ T F R f(x) B x=0 W T TM?
(1) 8 (2) 6 (3) 4 4) 2

188. If

x? sinx cosx

fix)={6 -l 0

p p* P
A
where P 1s 2 constant, the value of c{x gx at x=0 18
(1) P ) P+P?
p+P’ (4) independent of P
(3) £+
- x3 sinx cosx
f(x)=|6 -1 0
d3f (x) s
‘ =0 W ——— &l "HH
) P 2) P+P° (3 P+P? @ P R W
(1
52
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189. If the normal to the curve y = f (x) at (3,4) makes an angle -Sf with the +ve
x-axis, then the value of f'(3) will be

e % y = flx) & fagg (3,4) W stfers v x-o1g & @y > = 1 RV FATAT
2, @ f(3) ® WW BAM
(1) -1 (2) 1 (3) -2 @) 4

190. If the diagonals of a parallelo
gram PQRS arc along Lhe lines x +
6x -2y =7, then PQORS will be a : e

(1) rectangle (2) square
(3) cyclic quadrilateral (4) rhombus
AR 994S PORS % fi&l x 43
m@ x+3y = 4m6x2y TQ'{%ﬁpQRS
(1) s | @) =
(3) TN =gy (4) W Tragafs
191, If -© = B, +le+ng2 t:, then B, -B

-1 18 equal to

=B 2
T 0¥ Bix+Byx® +... g B, -B,_;, ¥ W@ wm

& 1
(1) - (2) =% (3) —

(152) 53
{P.T,o_/

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



192. ABis vertical pole. The end A is on the level ground, C is the middle point of AB.
P is a point on the level ground. The portion CB subtends an angle  at P. If
AP = x AB, then which of the statements is correct?

AB W Sl G 3 sl A R wwe sifia @ ? i AB %1 wefag C R

ﬁﬂpmmﬁqw%aﬂxmeBﬁ%PqIBaﬁwmiwﬁAPuAB%,
dl SI-d1 %99 G4 87

. X _ X
= 2 sP =
) sin = 3] cosp= o
X
tR =
(3) tanp = - (4] ‘eoth =77

193. P(xy), F(3,0) F,(-3,0) are three points. If x and y satisfy the relation
| 16_{‘;‘ +,25L2 ;400, then PF, + PF, equals

7 gy
P(-“—':HLFHSJOLFQ("S,U] Eﬁ:{ ﬁa Er{ ﬁ%-ﬂ}i‘l 'ﬂﬁ x ﬁ-{ y
162 + 25y =400 f R, @ PR, + PF, 1 F

(1) 8 (2) 6 (3) 10 (4) 12

‘ b da+b+c=3,
194. Suppose a, b, c are in AP and a?, b2, c? are in GP. fa>b>can

then the value of a is

m%abcqqma‘uﬁﬁ%ﬁazjbz,czwa“ﬁﬁﬁlﬂ%a}b::caﬁt
a+b+c;%a?ﬂﬂmmm-

1442 J2 -1 1
1 B =5 B —— (4) R
(1) 03
54
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. 334 365
195. If i= 1, then 4+5|- 1, W3 1, i3
r 2t 5 +3 -§-+-—-2— equals

= 334
A i =, /~1, @ 4+5[—%+1‘é—§-} +3[__;.+.i_‘;§]355 1 WA g

(1) 1-iy3 (2) ~1+iJ3 (3) i3 (4) -iv3

196. If = x?
Hﬁniiix) X +2m'.,.232 and  g(x)=-x2 —2cx+ b2 are such that
f (x)> maxima g(x), then the relation between b and ¢ is

a&f(xJ=x2+2bx+2c2 kY01
g(x)=-x?- 2 ol
ﬁwﬁgmgix]%ﬁumﬁq;g';b:ﬂ??%aﬁmmﬁ & f(x) ®

(1) b<e (2) O<c<by3
3
B) lel<|b|v2 (4 NIV
197. The value of lim [(uij(n?_’_ R0 | R
e |\ 2 n?) "t Z 1S equal to

lim (1 -1—] _2_:1 n’ o

n/2
(1) € . @ 2e?

2e” 2e"/?
2e e'/? 8) — (4) 2¢2
2 ) 2e e’/?2

198. Which of thc_following- iS Correct?
(1) Median + Mean =< 9 Mode

| (2) Median - M
(3) 3 Mean ~ 2 Median = Mede = Mode

(4} 3 Median _ 2 M
€an = Moge

(182) 55
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fm & @ 37 7 27
(Ilmfﬁ#ww:zagaﬁ (2) Wi — WIEA = SRR
(3) 3 WEg — 2 Wi = AP (4) 3 Wi — 2 A = SEEE

199. ix(@xi)+ jx(@x j)+kx(@xk)is equal to

gx(&x?)+}x(ﬁx3)+kx(ﬁxk}ﬂTIFI%

2l

0 4
(1) 2a (2) 3a (3) 0 (4)
- 2 - __—E-tan'ly) dy=0
00. The equation of the curve satisfying the equation (1 +y ) dx+ (x

0 and passing through the point (0,0) 1s . . Fﬁ

FHfieRT (1+y2)dx+(x—ém‘v1dy=oaﬁ e F el
S % F THE A | |
1 (2} xetﬂt_ Yy — tan’ y

(1) xemn"y =cot Y

(4) ™'V =tan"' Y

3 A
(3) xe™ *=tan Y

*kk

D/ 6(152)—16000
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1.WWW%IDW%WﬁWéﬁWﬁH%ﬁ{EW'éGﬂIHﬁW
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zgf qfis YW R A |
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77 & & qediEd fea
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ﬂﬂ*ﬁﬁmﬁHdm—gmmmmﬁzmwaﬁHva@ﬂm

6. 3o THo maﬁmmm,m-wmaﬂzm(aﬁﬂéﬁ)aww-g\’mﬂm
FFEAE Ho H e o mouanoaammﬁmﬁmﬁamﬁza%l

9 mm%miﬁrﬁﬁﬂﬁﬁ?ﬁﬂwﬁl@ﬁaaﬁﬁq?ﬁa%rrﬁ-:raﬁmawmqm
qﬁﬂmwﬁm%mwmml

5 mw@mm T agen G S weEd uﬁm%ﬁwaﬂm?ﬁéﬂmﬂ
t. %l - - Il
10. t:ﬁa : if 3 A ey T et g ; @l IS 3| ™ g W gA I [ S
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